% 2-4-6-2-2 FICHEHL QBT HEE - FVF )PP EREREL A B

B e P EH EXUE-&THE SN g5 =
FIEcPEm 1 10 -~ 12 | 4 A
ey I 1 = 1,2 4 %
¢ P - 2 2 &
B2y B I - 1] 2 %
SRsE gt N = |12 4 "
B2 2T - 1 2 o
BRh g BT - 2 2 E

FEPP mapEimnsaied - 2 2 iE
Frok s KT = 1 2 iE
B0 2T = 1 2 3
FheF L I 11 = | 12| 4 i
%% S IR {7 g = 1 2 F
f,]'lré'tt?f?zéiﬁ&? I 12 | 4 =
1S5 TR 4 = 1 2 E
FICAREFLEE > - 2 2 2
BR 24 IR Ax - 1 2 &
CEERES Fi - 2 | 2 %
EHEFID -z 12| 4 &

FYFP [ KEHERFIO - 12 | 8 &
g1 = 12 8 &
HEBMR AR I | - | 12| 2 i
5 STRE = 1 2 E
SRSE S = 2 2 E

[ e 1,,1'13&;;‘%{@_ ) 1%1;\, ) f;‘;;fw,lj;}gﬁ, 0
2.% B ¥iak iR B s o

61




#2463 2B EHEHLARTHEE IV F )PP éﬁ;ﬁtgﬁg\_?ﬂ# %
FL P 3E u il R Ea | B | E o | LiE R #ir
rEFEm 110 - 1,2 4 A
Py 110 - 12| 4 "
PRI E G = 2 2 &
RIT T4 PRI = 2 2 9
B2 g B - 1 2 s
2 %S 11 - 12 | 4 9
B OET - 1 2 i
B ag Bl - 2 2 g
#3E L EBRETE = 1 1 E
Frok s K = 1 2 5
BEFD BT 2HT - 112 [ =
e v F = 1 2 i
B 24 S35 RK = 1 2 5
#F s W = 1 3 iE
8z I = |12 ] 4 %
Bl M EEZEH 11 - 12 4 E
$ 0% ERE = 1 2 i
% Y2 iR 17 T = 1 2 5
23 AR = 2 2 E
8 ER g = 2 2 g
% 8233 7 = 1 2 iZ
ok Y = 1 2 iE
FICTRE Fd B % > - 2 2 9
B 2SI A - 2 2 9
ey P ir = 2 2 I
EHAEIN -=]12] 4 %
Xl - 12 ] 4 R
Fe il i Iy 1,2 8 A
KiFEF 11 = [ 12| 8 9
Y s - 1 2 i
Z 1 - 2 2 i
FYFE (B2 = 1 2 g
£ 110 - [12] 2 &
KEHEMEGERY 10| = 12 | 4 5
KEFV I = 1,2 4 by
A NAY Y = 2 2 g
Al o = 2 2 iz
%I Bkt it = 2 2 5
“upg = 2 2 iE
2 YR8 W = 1 2 &5
%R = 1 2 E
B L i E e LR 14 RApuPR -

2.% B HLgrie F A0 g e

66




% 2-4-6-3-3 FITH L (TIRAFFLE X

3 ~N

(RIS R R E R

A0 HE S B 3&&» | Fr |wEY %L
T 1 - 12 | 4 %
¢ IPEzh - 1 2 &
FR;{%"LFW - 1 2 VA
F - 1 2 &
FICERE L 2L 2 — 2 2 A
JREA T - 2 2 &
FIERT 110 = 1,2 4 i
PRI O = 1,2 4 A

LEpD {‘&’HT}'— I = 1,2 4 s
¢ 453+ % = 2 2 B
(FZERIIO = 1,2 4 iR
AR C 1| = 1,2 4 i
I T M B PR = 2 2 A
FICRE KT = 1 2 A
FIeR T EF T = 1,2 4 &
FRERET NI = 1,2 4 iR
PRAT {7 48 = 1 2 i
Bl = 1 2 i
EA S F - 1 2 &
A#HEY T - 1,2 6 9
PRAT E G2 - 2 2 A
By [ - 1,2 6 9
&R IR L I =z 1,2 4 i
JRARLE T I - 12 | a4 %
ZHRET IO = 1,2 4 B

I Fiétffﬂ«“—%??if%l 1l — 12 | 4 3;:
PR A T = 1 2 &
plRK - 1 2 i
BagdlivI I -= 121 | 4 2
A = 1,2 6 &
PRERE 7RI 1 1 = 1,2 4 &
2110 = 1,2 4 i
RPREFT I - = 1212 6 i3
AR I I = 1,2 4 B

Bl i e I 14 RpBPEAE -

2.4 B ELH R H 0l -

67




